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General Instructions :
(i)  All questions are compulsory.
(ii))  Question number 1 to 5 are very short-answer questions and carry 1 mark each.
(iii)  Question number 6 to 10 are short-answer questions and carry 2 marks each.

(iv)  Question number 11 to 22 are also short-answer questions and carry 3 marks
each.

(v)  Question number 23 is a value based question and carry 4 marks.
(vi)  Question number 24 to 26 are long-answer questions and carry 5 marks each.
(vii) Use log tables, if necessary. Use of calculators is not allowed.

1. o1 Bl g S BT 1 ST el & 91 Iu=Tid fha Srar g ? 1

What happens when phenol is treated with bromine water ?

2. [CoCly(en),]" ¥ &1 [UPAC T feifiam | 1
Write [IUPAC name of the complex : [CoCl,(en),]".

3. PN ITARE DfTe Sehet 3R Wi 1 € o feamar & ¢ 1

Which ionic compound shows both Frenkel and Schottky defects ?

4. Tr=fefea e o1 3.3, 9. o . T fafe -

/ CH,4
CH3—CH2—CH2—CH2—N\ 1
CH,
Write IUPAC name of the following compound :
/ CH,
CH,;-CH,-CH, -CH,-N \
CH,
5. HeRgH § uftfered greren 31T afiEoor qreay fafa | 1

Write the dispersed phase and dispersion medium in butter.

6. 31 frmfafad i 8 i ?
(i)  2-STHETIYA ST | -SESE °
(i) S DI p-FARTEE IS T 2
How will you carry out the following conversions :

(i) 2-Bromopropane to 1-bromopropane
(1)) Benzene to p-chloronitrobenzene
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frefeftaa sractieni 61 samen Hifiu : 2
(i) Zn?>* TEUTEAEAE |
(ii) EFTWWE;Au/MmmRJT&mwéWém%l

Explain the following observations :

(i)  Zn?" salts are colourless

(i) Copper has exceptionally positive EM2+/M value.

“SATATHRERITG 3 (H;PO,) AT=F T&l &, T BRUERRE 30 (H,P0,) T
e IS & |7 Teh 3T IETET Sh1 HEdT & SRl U hl AT U gfse i | 2
“Orthophosphoric acid (H;PO,) is not a reducing agent whereas hypophosphorus acid

(H4PO,) is a strong reducing agent.” Explain and justify the above statement with the

help of a suitable example.

AT SrFgIEl % HIY St CuCl, foetm & Iega-379ered & grM hefte T fmafafad
arfirfshamd & wehet & :

Cufyy +26"—>Cui; E°=+034V

H' +——>lH “E°=0.00V
(aq) 7 © 2 gy T W

I Uk Soidels fava o UMl & UR W 5 rfufsrn f s st g st 7 2

Following reactions may occur at cathode during the electrolysis of aqueous CuCl,

solution using Pt electrodes :

Cu(zzq) +2e—— Cu(s); E°=+034V

H/,

: 1 A
aq T€ —>5Hyg; E2=000V
On the basis of their standard electrode potential values, which reaction is feasible at

cathode and why ?
3 [P.T.O.
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10. () 3@ Afufsran <Y wife F=n 2rft fee @ fRrms 3T srfufshan & o M &1 361
U A ?
(ii) 3fufsRam A + H,0 - B; @ afA]
79 FAffma Y @ife s Enft 2

(1) What is the order of the reaction whose rate constant has same units as the rate
of reaction ?

(ii) For a reaction A + H,0 — B; Rate a[A]. What is the order of this reaction ?

11. (a) g3t (i) oo THSho 37 (i) Sega-3raeet ey fafer < fagrat = fafau |
(b) Tr=fafaa s faf gro ufespd omg 1w fafa -
(i) HiS kA
(i) a-3Tehe fafy
(a) Write the principle involved in the following :
(1)  Zone refining of metals
(it)  Electrolytic refining
(b) Name the metal refined by each of the following processes :

(i) Mond Process
(1)) van Arkel Method

12, frefafaa ufteresii s s d gu e hifs -
(i) TETEfeh AT a9 SgH W U™ 9gaT § |
(i) e I T et T § e w6 ST R |
(iii) 3Rty g Her fe@E A ? |
Explain the following phenomenon giving reasons :
(i) Chemical adsorption increases with increase in temperature.

(i1) Alum is applied on a cut to stop bleeding.

(iii) Sky appears blue in colour.
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T TR shifeem < weh Tty srfawrss 1 a1y <t Suferfa & enfsem Srate o | wfed
fopT ST IR ueh et 1 71 1Tk (A) ST 7 | FifiTh (A) ST AT i T Teh AT TT 61
Aifires (B) ST 2, S Ueh ToeT STTReIeh Tk & | ATk (A) 311 (B) 1 vga= HIfvT | deag
et SAfufrand fafaw |
rYan

(a) Trafafaa s fow sro & -

(i)  HRHYT axel o AR I T 8 2 |

(i) MnO & 2 S&feh Mn, 0., 37 |
(b) et faerm o faEarsht SeF % grahr 31Tt 1 Uiehe shife AfE SEehT THTY]

AT 26 2 |

A mixed oxide of iron and chromium is fused with sodium carbonate in free access of
air to form a yellow coloured compound (A). On acidification the compound (A)
forms an orange coloured compound (B), which is a strong oxidizing agent. Identify
compound (A) and (B). Write chemical reactions involved.

OR
(a) Give reasons for the following :
(1) Compounds of transition elements are generally coloured.
(i) MnO is basic while Mn,0 is acidic.

(b) Calculate the magnetic moment of a divalent ion in aqueous medium if its
atomic number is 26.

298 K W Frfafiga sififsran & o A G° 3R log K, Tftehferd i :
2 Al

[(E;a =2.02V), IF = 96500C mol ']

+3 cu({jq) — 53 APT

(aq) T3 Cu)

Calculate A G° and log K, for the following reaction at 298 K :
2 Al +3 Cufy) ——2 Al

(aq) (aq)
[(Efyy =2.02 V), IF = 96500C mol ']

+3 Cu(s)

Teh v bee ATereh | faemm 2ian 2, TSt hifsseht 1 &g 288 pm 7 | 36T HioR
ZEATH Tiehferd ShiTTT ATe 38kt B 7.2 g/em3 § |

An element exists in bee lattice with a cell edge of 288 pm. Calculate its molar mass if
its density is 7.2 g/cm?.

5 [P.T.O.
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frefafaa & fow wro e

() Eeiet § gereirrt g sirframd we 2 § |

(i) TeRA gef 2 g ot 9t § Afecia B € |

S\ 2 Sfceenm % wfd frefafiad et & g 1 37! Sl g3 sTfufwramiied &
TR R SFGRId HIfT :

212 HITTLH, 1-SHH=A, 2- S

Account for the following :

(1)  Electrophilic substitution reactions in haloarenes occur slowly.

(i) Haloalkanes, though polar, are insoluble in water.
Arrange the following compounds in increasing order of reactivity towards Sy2

displacement :

2-Bromo—2-Methylbutane, 1-Bromopentane, 2—Bromopentane

Frfafga srfufsraai o A, B 31K C 61 vg=m $Hifsw :

(i)

(i)

H_/Ni CH,COCI/&TR

CH,CH,Cl KN 5 2 ;5 3 > C
HBF NaNO_/Cu

CHN,CF ——4>A—— 2B S0HCE, &

Identify A, B and C in the following reactions :

®

(i)

(a)

(b)

(a)

(b)

H_/Ni CH_,COC//Base
cHcH,cl —KCN , o 2,53
HBF NaNO_/Cu
CHN CF 45 A Az s BUHC) o

et 3 fererr fererfut <6t smyfd R s1er ¥ frafia &9 & =1 2t =nfae 7 s9eT wh
BRI

frefafad 3 st Hife -

(i) ATEvIh TR TS UHiAT 377

(i) IGR TR MAHEHR T

Why water soluble vitamins must be supplied regularly in the diet ? Give one
example of it.

Differentiate between the following :

(1) Essential and non-essential amino acids.

(i1) Fibrous and globular proteins.

6

Schedule a Tutoring Session today!

Call Now: 91729 66488 &)

wWww . premacademy . com




19.

20.

21.

22.

56/3

Place for Rational & Educational Motivations!!

(i) ek ered o1 AT feafiere St gferreft e fereishTeft (TTOTeR) T SR srev feban
ST Tl & |

(i) T FHBm Hgwh H1 T fRay feeT 3w Faa 3 @ gt 3T ¥ gerei
HEEES

(iii) ST STIETSIR HTE 7

(i) Name a substance which can be used as an antiseptic as well as disinfectant.

(i1) Name an artificial sweetener whose use is limited to cold foods and drinks.

(iii) What are cationic detergents ?

T U ITHEHAS Al CrCly6H,0 H AgNO, faer & @ fuemn s & @
Hifireh o ufel AT T AgC/ % 3 Hiet Teaifua &rd & | feif :

(i) HEH HT HEATCHD T

(i) HPpea 1R, I R T H A™

(iii) Hpet 1 FrahF g for TR

When a coordination compound CrCl;-6H,0 is mixed with AgNO; solution, 3 moles

of AgC/ are precipitated per mole of the compound. Write :
(1)  Structural formula of the complex

(ii) TUPAC name of the complex

(iii) Magnetic and spin behaviour of the complex

g hife i ferelt srfirfsran & fore sref-3mg 1et 693 s 7 | 39 Srfafsham 1 90% o &9
o T Tl THY T THeher i |

Half-life for a first order reaction is 693 s. Calculate the time required for 90%
completion of this reaction.

(a) UHTS Y 3TN BTt e 3Tt B ® | = ?
(b) SR & =1 AT & faster <ht feranfafyr fofa |
ot
2CH;CH,0H ————> CH;CH,0CH,CH,§
(a) Why phenol is more acidic than ethanol ?

(b)  Write the mechanism of acid dehydration of ethanol to yield ether :

H+
2CH,CH,0H ————> CH,CH,0CH,CH,

7 [P.T.O.
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e T gag o THF fiF 52 d% 9gd a9 9N g3 | SRM 3TR 35eh THER i a8 & ey

U T 3T HISATS g8 HTeh HIok BT IHT 2racre H 9T e T AT 7R 51 o A h

e I A LS off 91 9 o 9 SrEl A8 o 1 @ 9 | 39 1 gmen w fafiEy i

Hife gerrert s fob 79 T diferefi <At Aferi e 311 wifees 6 awgaii &1 Tcfus

AN L T8 3T 38 3UT-34X e &d & 11 37d o Trell 3R el Argd H Seht 38 g

Tk T o T8 I Ueh od & | F Tt Sraf=Hiehtur 89 & SR 55d 999 7 IS T&d

% | sEfee 3@ wHen ¥ fued & fou #ug s1eEn e % 9 Em e =ifee S

Saferfefia § |

frafafaa gei & s s :

(i) Tl Safrferwfia agees &1 9m fafew | 39 sgers & Themn! 3R g 36T
= T fafa |

(i) 39 geTeh o o1 39 ferfen |

(iii) SHM g vefia fohedi 2 geaii @1 faflaw |

Once there was a heavy downpour for about 3 hours in the early morning. Irfan and his
family were finding it difficult to carry out their daily morning chores as the sewer
water was flowing back into the toilets, the road in front of their house was flooded
with water and they could not move out. On this very serious problem Irfan called a
meeting of all the residents. In the meeting Irfan discussed the problem and said that
we are using too much polythene bags and other plastic items which we throw here
and there. All these move into the drains and sewer lines which get choked and do not
allow flow of water. As these are non-biodegradable, they remain as such for a long
time. So to overcome this problem, we should use bags made up of cloth or jute which

are biodegradable.
Answer the following questions :

(i) Name the polymer which is biodegradable. Write the structures of monomers

and the repeating unit.
(i)  Write two uses of this polymer.

(iii) Write any two values shown by Irfan.

8
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I H1G, FORNh A I Teh T H IUIEA ST 01 T STl T a1 T 3l
19 (A) Trepeft | S9 38 wEaelt J qfd 6 Sior Sl 718 9 ut 79 3R 93 TS |
3UST T W T (A) Teh TTEH 3 (B) ¥ 9ged T8 | (A) 371 (B) =l Ug=H HIfT |

Harg Afufsransti & fere Tt wfiw fafen |
XeOF,, 1 &%= 3RfEd Hif |
LRl
frfefiea < forg smo i :
(i) SO, ¥ TeO, T I AR T 7 |
(i) HCIO 1 319 HC/O, Tereiat 375 & |
(iii) AT Shaet 3T 37 3tTafis o @1 A samdt 2 |
frferftaa wfieon 1 ot <Aifsr -
(i) 4NaCl+MnO, + 4H,80, ——>

(i) 6XeF, +12H,0 ——>

When concentrated sulphuric acid was added to an unknown salt present in a test

tube a brown gas (A) was evolved. This gas intensified when copper turnings

were added to this test tube. On cooling the gas (A) changed into a colourless

solid (B). Identify (A) and (B). Write chemical reactions involved.
Draw structure of XeOF,,.

OR
Account for the following :

(i)  Reducing character decreases from SO, to TeO,.
(i1) HCIOj; is a stronger acid than HC/O.
(i) Xenon forms compounds with fluorine and oxygen only.

Complete the following equations :

(i)  4NaC/+MnO, + 4H,80, —>

(i) 6XeF, + 12H,0 ——>
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feteftaa < T samy
(i) TREREE sfirertieni & ufa T Y 3Ter S i afra B g |
(i) SAIEeh 3T W goiaiTal STaeeTa HeT T W a2 |
(iii) hreiTfeaTersh 377 STl T shi Jrfirenaimes sriframd 72 < |
Frfalaa difies gt § e w0 & fore owe Tamfes wheo ol -
(i) VHRIHHH 3R sifeeamse
(i) S=igeh 37T TR Ut Seee
Frer
frefafga sfufsrarssa @ A, B, C 37 D &Y g fofigu :

/ Hz/Pd-BaSO4 < & dil. NaOH) B A

CH,COC > C

§ CH,MgBr/H,0"

frafefiad ifitent 1 3k F@d §U IR o A H SATEIT HITT -

CH,;CHO, CH;CH,0H, CH;0CH,, CH;COOH

Account for the following :

(i)  Propanal is more reactive than propanone towards nucleophilic reagents.
(i)  Electrophilic substitution in benzoic acid takes place at meta position.
(iii) Carboxylic acids do not give characteristic reactions of carbonyl group.

Give simple chemical test to distinguish between the following pairs of
compounds :

(i)  Acetophenone and benzaldehyde
(i) Benzoic acid and ethylbenzoate
OR

Write structures of A, B, C and D in the following reaction sequence :

H,/Pd-BaSOy4 Adil.NaOI-£B A

CH,COC! C

\[/ CH;MgBr/H;0*
D

Arrange the following compounds in the increasing order of their boiling points :

CH,;CHO, CH,CH,0H, CH;0CH;,, CH;COOH

10
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| forex it & 1 Hiet o e X 9 1 dEeEh 9 ST § | S it
i |

298 K T CO, % fere 38 frieh 1.67 x 108 Pa & | 38t d19 9 500 ml @rer aret &
SRS CO, % HIe 1 URehe hifT, e o8 2.53 x 105 Pa & WAL TS 2 |

HAYAT
Forferfiara =1 TR 6t -
(i) 3Te faerm
(if) R 2t

200 g 9 H 10 g CaCl, "o & W foerm & g Faemies 3~ afesfad
iU, I8 A 3T o CaCl, o fomnfsra @ | (@t & fog K, = 0512 K
kgmol~!; CaCl, FT AR §&9H = 111 g mol ™))
Explain why on addition of 1 mol glucose to 1 litre water the boiling point of
water increases.
Henry’s law constant for CO, in water is 1.67 x 10% Pa at 298 K. Calculate
the number of moles of CO, in 500 ml of soda water when packed under
2.53 x 10° Pa at the same temperature.

OR
Define the following terms :
(i) Ideal solution
(i1) Osmotic pressure.

Calculate the boiling point elevation for a solution prepared by adding
10 g CaCl, to 200 g of water, assuming that CaC/, is completely dissociated.

(K, for water = 0.512 K kgmol~!'; Molar mass of CaClL=111¢g mol~1)
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